IR TREEREFARIAZE

sl B e
1A EE4
sl B e
REEL (&)
* RS *
O (K& - £1t4) (E=S
@ (K& - =1t4) (FE=S)

TREARGER XIREARBREREHALICHATEOFOAOIFHELY XY,

= R OB IR O3B
9/6 (£) Boos ~ B 9 B9 ~ B %
9/13 (L) B 2 ~ B 9 B 2 ~ B 9
9/20 (1) BEOS ~ B 5 B ~ B 5
9/27 (£) B9 ~ B 9 B 5 ~ B 5
H RE & LEH
9/6 (+) = » ~ = )
9/13 (4) iS5 %) ~ iS4 52
9/20 (£) iS5 g2 ~ iS5 o
9/27 (%) 155 o ~ iS5 o
E=1E

XEEY) 8A12H (&) 16:00F T
KEAFICHBEREFZRMAFLIRHLCES L,

BN, THFLEHOFENEREADML 68FF TICHHMOBL S,
B 20H (£) BMHLLI2H (&) FTISEL

XKEBF v L DHEIE, FLEFEDOI0NF X TICEAMLE /2L,
XIBARTIIRGBERNR - B3P >RKHPBETT,

BLABK - 8P 2KoFx vV EFRAEEY ET,
XZPHELEBOHBIRRNELAY OFEIE. BERBICTEEALIZE N,




